
作成日 検図 品名 品番
2008.1.15 中田 六角穴付ボルト Ｂ３０－○○○○

材質：クロムモリブデン鋼（ＳＣＭ４３５）

表面処理：酸化鉄皮膜

強度：１２．９

品番
寸法
ｄｘＬ

ネジピッチ
Ｐ

Ｓ Ｂ ｄｓ ｋ ｍ ｔ 品番
寸法
ｄｘＬ

ネジピッチ
Ｐ

Ｓ Ｂ ｄｓ ｋ ｍ ｔ

B30-0325 M3X25 0.5 18 5.5 3 3 2.5 1.3 B30-0645 M6X45 1.0 24 10 6 6 5 3

B30-0330 M3X30 0.5 18 5.5 3 3 2.5 1.3 B30-0650 M6X50 1.0 24 10 6 6 5 3

B30-0335 M3X35 0.5 18 5.5 3 3 2.5 1.3 B30-0655 M6X55 1.0 24 10 6 6 5 3

B30-0340 M3X40 0.5 18 5.5 3 3 2.5 1.3 B30-0660 M6X60 1.0 24 10 6 6 5 3

B30-0345 M3X45 0.5 18 5.5 3 3 2.5 1.3 B30-0665 M6X65 1.0 24 10 6 6 5 3

B30-0350 M3X50 0.5 18 5.5 3 3 2.5 1.3 B30-0670 M6X70 1.0 24 10 6 6 5 3

B30-0430 M4X30 0.7 20 7 4 4 3 2 B30-0675 M6X75 1.0 24 10 6 6 5 3

B30-0435 M4X35 0.7 20 7 4 4 3 2 B30-0840 M8X40 1.25 28 13 8 8 6 4

B30-0440 M4X40 0.7 20 7 4 4 3 2 B30-0845 M8X45 1.25 28 13 8 8 6 4

B30-0445 M4X45 0.7 20 7 4 4 3 2 B30-0850 M8X50 1.25 28 13 8 8 6 4

B30-0450 M4X50 0.7 20 7 4 4 3 2 B30-0855 M8X55 1.25 28 13 8 8 6 4

B30-0455 M4X55 0.7 20 7 4 4 3 2 B30-0860 M8X60 1.25 28 13 8 8 6 4

B30-0460 M4X60 0.7 20 7 4 4 3 2 B30-0865 M8X65 1.25 28 13 8 8 6 4

B30-0465 M4X65 0.7 20 7 4 4 3 2 B30-0870 M8X70 1.25 28 13 8 8 6 4

B30-0470 M4X70 0.7 20 7 4 4 3 2 B30-0875 M8X75 1.25 28 13 8 8 6 4

B30-0475 M4X75 0.7 20 7 4 4 3 2 B30-1045 M10X45 1.5 32 16 10 10 8 5

B30-0530 M5X30 0.8 22 8.5 5 5 4 2.5 B30-1050 M10X50 1.5 32 16 10 10 8 5

B30-0535 M5X35 0.8 22 8.5 5 5 4 2.5 B30-1055 M10X55 1.5 32 16 10 10 8 5

B30-0540 M5X40 0.8 22 8.5 5 5 4 2.5 B30-1060 M10X60 1.5 32 16 10 10 8 5

B30-0545 M5X45 0.8 22 8.5 5 5 4 2.5 B30-1065 M10X65 1.5 32 16 10 10 8 5

B30-0550 M5X50 0.8 22 8.5 5 5 4 2.5 B30-1070 M10X70 1.5 32 16 10 10 8 5

B30-0555 M5X55 0.8 22 8.5 5 5 4 2.5 B30-1075 M10X75 1.5 32 16 10 10 8 5

B30-0560 M5X60 0.8 22 8.5 5 5 4 2.5 B30-1255 M12X55 1.75 36 18 12 12 10 6

B30-0565 M5X65 0.8 22 8.5 5 5 4 2.5 B30-1260 M12X60 1.75 36 18 12 12 10 6

B30-0570 M5X70 0.8 22 8.5 5 5 4 2.5 B30-1265 M12X65 1.75 36 18 12 12 10 6

B30-0575 M5X75 0.8 22 8.5 5 5 4 2.5 B30-1270 M12X70 1.75 36 18 12 12 10 6

B30-0635 M6X35 1.0 24 10 6 6 5 3 B30-1275 M12X75 1.75 36 18 12 12 10 6

B30-0640 M6X40 1.0 24 10 6 6 5 3

L


